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FWEY: 4 34,516,000 2,715,000 2,715,000 8,762,000 8,762,000
B a4 43 20,000
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PA A T~ 45 2,000
A4~ 454 2,000
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&R HEE 462 34,488,000 2,715,000 2,715,000 8,762,000 8,762,000
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2IE fT » 4YY 6,000
Kir i 5 35,705,000 2,420282| 2,715,000 294,718 -10.86 9,252,690 9,951,000 -698,310 -7.02
RN Saiee 53 35,705,000 2420282| 2,715,000 294718 -10.86 9,252,690 9,951,000 -698,310 -7.02
HENE & 532 35,705,000 2420282 2,715,000 294,718 -10.86 9,252,690 9,951,000 -698,310 -7.02
* g k(R ) 6 -1,189,000 294,718 294,718 -490,690[  -1,189,000 698,310 -58.73
#4514 p 71 1,989,942 2,305,234 1,989,942 315,292 15.84
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